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Exercise 9.4                                                                          Page No: 196 

Find the sum to n terms of each of the series in Exercises 1 to 7. 

1. 1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 + … 

Solution: 

Given series is 1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 + … 

It’s seen that, 

nth term, an = n ( n + 1) 

Then, the sum of n terms of the series can be expressed as 

 

2. 1 × 2 × 3 + 2 × 3 × 4 + 3 × 4 × 5 + … 

Solution: 

Given series is 1 × 2 × 3 + 2 × 3 × 4 + 3 × 4 × 5 + … 

It’s seen that, 

nth term, an = n ( n + 1) ( n + 2) 

= (n2 + n) (n + 2) 

= n3 + 3n2 + 2n 

Then, the sum of n terms of the series can be expressed as 
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3. 3 × 12 + 5 × 22 + 7 × 32 + … 

Solution: 

Given series is 3 ×12 + 5 × 22 + 7 × 32 + … 

It’s seen that, 

nth term, an = ( 2n + 1) n2 = 2n3 + n2 

Then, the sum of n terms of the series can be expressed as 
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4. Find the sum to n terms of the series  

 

Solution: 
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5. Find the sum to n terms of the series 52 + 62 + 72 + … + 202 

Solution: 

Given series is 52 + 62 + 72 + … + 202 

It’s seen that, 

nth term, an = ( n + 4)2 = n2 + 8n + 16 

Then, the sum of n terms of the series can be expressed as 
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6. Find the sum to n terms of the series 3 × 8 + 6 × 11 + 9 × 14 +… 

Solution: 

Given series is 3 × 8 + 6 × 11 + 9 × 14 + … 

It’s found out that, 

an = (nth term of 3, 6, 9 …) × (nth term of 8, 11, 14, …) 

= (3n) (3n + 5) 

= 9n2 + 15n 

Then, the sum of n terms of the series can be expressed as 
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7. Find the sum to n terms of the series 12 + (12 + 22) + (12 + 22 + 32) + … 

Solution: 

Given series is 12 + (12 + 22) + (12 + 22 + 32 ) + … 

Finding the nth term, we have 

an = (12 + 22 + 32 +…….+ n2) 

 

Now, the sum of n terms of the series can be expressed as 
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8. Find the sum to n terms of the series whose nth term is given by n (n + 1) (n + 4). 

Solution: 

Given, 

an = n (n + 1) (n + 4) = n(n2 + 5n + 4) = n3 + 5n2 + 4n 

Now, the sum of n terms of the series can be expressed as 
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9. Find the sum to n terms of the series whose nth term is given by n2 + 2n 

Solution: 

Given, 

The nth term of the series as 

an = n2 + 2n 

Then, the sum of n terms of the series can be expressed as 

 

10. Find the sum to n terms of the series whose nth term is given by (2n – 1)2 

Solution: 
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Given, 

The nth term of the series as: 

an = (2n – 1)2 = 4n2 – 4n + 1 

Then, the sum of n terms of the series can be expressed as 

 

 

 

 

 

 

 

 

 

 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

